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2I|l=dH 2,837,715 2,831,099 6,616
= 135,350 135,350 0
Il 1,616 0 1,616
= 37,589 37,589 0
Al 2,658,160 2,658, 160 0
S Al 5,000 0 5,000
A B = 1,896,778 1,890, 162 6,616
= 135,350 135,350 0
Il 1,616 0 1,616
L= 37,589 37,589 0
Al 1,717,223 1,717,223 0
T Al 5,000 0 5,000
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= 15,050 15,050 0
Il 1,616 0 1,616
Al 69,050 69,050 0
StA=&II=X 13,616 12,000 1,616
= 6,000 6,000 0
Il 1,616 0 1,616
Al 6,000 6,000 0
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S 11,857 11,857 0
Al 165,753 165,753 0
SAl 5,000 0 5,000
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307 21zZtol ™ 5,000 0 5,000
S Al 5,000 0 5,000
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